H & 0l & AHS B Ml A

SN BAESEH
BH: ALBI= L8
?l: ARISA SEXH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SMESYEH 783,859,889 719,917,870 63,942,019
= 428,368,412
[ 16,585,043
Il 5,222,911
CH 3,000,000
= 210,192,017
= 120,491,506
Atel =X 8t 44,200 44,200 0
A2ISX S 44,200 44,200 0
SXHHEA 2= 2 44,200 44,200 0
201 er23 | 44,200 44,200 0
01 At2teltl 44,200 44,200 0
OEsuZEe X 7,650
OEMEF20F HHEA 23 7,650
OMSLRIA iE MY 2 28,900
25 -5 XE 550,920,650 480,532,383 70,388,267
= 299,162,847
[ 138,108,238
= 113,649,565
70t EFSMHIA DI &5 550,920,650 480,532,383 70,388,267
= 299,162,847
== 138,108,238
= 113,649,565
OlglolE &= 3,345,000 3,060,000 285,000
= 2,230,000
= 1,115,000
403 TR SMSAH=01H 3,345,000 3,060,000 285,000
= 2,230,000
== 1,115,000
01 A= 2L 3,345,000 3,060,000 285,000
Ooeloly &= 3,345,000
= 2,230,000
< 1,115,000
ool dsisd 29 1,600,000 909,000 691,000
307 @I2t01 & 1,600,000 905,000 695,000
05 git?(&= 1,600,000 905,000 695,000
oofeloldssa 29 1,600,000
2] SHAEAY X2 37,034,755 25,045,000 11,989,755
308 XXM SOIA 36,597,000 24,000,000 12,597,000
01 XN B2 LS 36,597,000 24,000,000 12,597,000
28 SHAMAY XNJ(XNHESE ) 36,597,000
403 MR HHMSAHE01H 437,755 1,045,000 A607,245
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SN BAESEH
ZH: 25 1% K2
el S=0F EFAHIA JlEE EF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 24,288
05 212t =S 48,576 44,160 4,416
OAIZHN EF At 2el)|2 2g 48,576
= 24,288
= 24,288
308 XXM SOIA 938,226 969,840 A31,614
= 721,712
=S 216,514
01 XN BELES 938,226 969,840 A31,614
OAIZHMl ESAtY X1 938,226
= 721,712
& 216,514
ooy e 346,803 366,000 A19,197
= 231,202
= 115,601
403 AXIEHHSAH=201H 346,803 366,000 19,197
= 231,202
= 115,601
01 AXISHHA=2EE 346,803 366,000 A19,197
Oofgloly Jised 346,803
= 231,202
== 115,601
PR 28| X2 61,127,557 50,859,109 10,268,448
= 41,125,998
S 20,001,559
308 AtAIEHMSOIE 61,127,557 50,859, 109 10,268,448
= 41,125,998
= 20,001,559
01 XN EES 61,127,557 50,859, 109 10,268,448
OEEFXNHNO0lE 2| 61,127,557
= 41,125,998
S 20,001,559
IRoIE=sE K& 172,701,975 176,941,330 A\4,239,355
= 138,739,000
[ 33,962,975
308 AHAIEMSOIE 172,701,975 176,941,330 N\4,239,355
= 138,739,000
= 33,962,975
01 X HHBAEXS 172,701,975 176,941,330 A\4,239,355
Og=0t 252 X& 172,701,975
= 138,739,000
= 33,962,975
gt EFS X 12,616 16,335 A3,719




SN BAESEH
ZH: 25 1% K2
el S=0F EFAHIA JlEE EF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,116
= 8,500
308 XtXIEMSO0IH 12,616 16,335 A3,719
= 4,116
= 8,500
01 XN BSELES 12,616 16,335 A3,719
ogu= 25X 12,616
= 4,116
= 8,500
HEesEg I 9,513,780 27,511,988 A17,998,208
= 7,632,004
= 1,881,776
308 XX HMSO0IA 9,513,780 27,511,988 17,998,208
= 7,632,004
=S 1,881,776
01 XN B2 LS 9,513,780 27,511,988 217,998,208
oty == Ad 9,513,780
= 7,632,004
[ 1,881,776
B30I N3 (HEA) 2,852,846 2,852,846 0
308 AtXIEMSOIE 2,852,846 2,852,846
01 HAHHBHEERS 2,852,846 2,852,846
Os3g0eols X& 2,852,846
FRILIHEE 28 X2 59,251 69,469 210,218
= 44,000
=S 15,251
307 glztol & 5,860 5,340 520
= 2,930
== 2,930
05 212t =S 5,860 5,340 520
ORRZELIHEH 228 ArZEIt 5,860
= 2,930
& 2,930
308 AFAIEHMSOIE 53,391 64,129 10,738
= 41,070
= 12,321
01 AXH B2 LS 53,391 64,129 A10,738
OFRIZLEHEY 28 X2 53,391
= 41,070
s 12,321
SN MM XH 18,216,913 44,775,607 N26,558,694
= 12,312,943
& 5,903,970

~
|




SN BAESEH
ZH: 25 1% K2
el S=0F EFAHIA JlEE EF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 18,216,913 42,975,607 N24,758,69%4
= 12,312,943
== 5,903,970
01 XN BSELS 18,216,913 42,975,607 N24,758,694
OuAZREZ I & 14,213,856
= 9,613,000
& 4,600,856
OuAZAAE XIAd| 618,479
= 419,943
= 198,536
OsHEESuUAMN SE222F 3,384,578
= 2,280,000
< 1,104,578
ool 28X 2,284,206 2,232,200 52,006
= 1,539,500
= 744,706
308 AtXIEHMSOIE 2,284,206 2,232,200 52,006
= 1,539,500
= 744,706
01 RSN EES 2,284,206 2,232,200 52,006
O0iglold WM 669,309
= 453,000
s 216,309
OO0l8l0ld Atef=g| 1,412,783
= 951,000
& 461,783
Os0ELN geloleold & 202,114
= 135,500
= 66,614
SEHSOISSHAJAEH A 2,687,730 6,643,140 A3,955,410
401 Al HIZL 201 2,687,730 6,643,140 A3,955,410
01 Al&HI 1,823,328 5,925,700 N4,102,372
EEE ral=| 1,823,328
02 Zeltl 849,916 702,954 146,962
OSgF0ISSAAME HE 849,916
03 A2 20 14,486 14,486 0
OSE=F0ISS XA A 14,486
Feltd 258 K 113,641,065 113,641,065 0
= 113,641,065
308 AFAIEHMSOIE 113,641,065 113,641,065 0
= 113,641,065
01 XN BSELES 113,641,065 113,641,065 0




SN BAESEH
B 9 OlE N
el S=0F EFAHIA JlEE EF (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=cltd 2528 X2 113,641,065
= 113,641,065
FE50 A 91,655,591 0 91,655,591
= 73,465,000
=S 18,190,591
308 XXM SOIH 91,655,591 0 91,655,591
= 73,465,000
< 18,190,591
01 XN BSELES 91,655,591 0 91,655,591
OR2s50 X& 91,655,591
= 73,465,000
& 18,190,591
SXRWAF, HHILAF XIZ 31,364,966 0 31,364,966
= 20,946,000
= 10,418,966
307 elztol & 1,450,000 0 1,450,000
= 725,000
s 725,000
05 2IMRIE =3 1,450,000 0 1,450,000
OUHMIwWAF e124H| 1,450,000
= 725,000
[ 725,000
308 AtAIEMSOIE 29,914,966 0 29,914,966
= 20,221,000
= 9,693,966
01 AXEHBEES 29,914,966 0 29,914,966
OAlZ UAEIAL Q1 24H] 1,504,921
= 1,016,000
= 488,921
OEXZ1WA XIA 28,410,045
= 19,205,000
[ 9,205,045
ors=EXsd 193,272,074 202,489,251 N9, 217,177
= 112,868,115
[ 13,130,972
Jl 4,645,641
< 56,220,046
= 6,407,300
Ols3lY Z2RE =2 193,272,074 202,489,251 N9, 217,177
= 112,868,115
[ 13,130,972
Jl 4,645,641
== 56,220,046

»
|




SN BAESEMY
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,407,300
ots=g A& 116,073,261 123,516,114 NT,442,853
= 97,608,052
= 18,465,209
308 AtXIEHMSOIE 116,073,261 123,516,114 AT,442,853
= 97,608,052
= 18,465,209
01 AXEH B2 LS 116,073,261 123,516,114 AT ,442,853
O0ts=gs0ks 116,073,261
= 97,608,052
s 18,465,209
ANEotsEsd=z)|2 2 3,178,804 2,901,840 276,964
= 1,561,686
& 1,617,118
307 @201 & 3,178,804 2,901,840 276,964
= 1,561,686
= 1,617,118
10 Al2ISTIAEEE2GHIEX 3,178,804 2,901,840 276,964
OXgotsEsd2I |2 2 3,178,804
= 1,561,686
= 1,617,118
SIiIIoHOtS & 2], 2], At 2,324,378 2,008,594 315,784
= 1,328,208
< 996,170
308 AXIMSO0IA 2,324,378 2,008,594 315,784
= 1,328,208
== 996, 170
01 HAHHBSEXS 2,324,378 2,008,594 315,784
Ostiiulaliotsdy =29 X3 2,324,378
= 1,328,208
= 996,170
S iolots&EE dREX 509,040 240,030 269,010
= 290,880
== 218,160
403 AXIEHHSAH=0lH 509,040 240,030 269,010
= 290,880
[ 218,160
01 A= 2L 509,040 240,030 269,010
OstiillofiotsdE e &4 509,040
= 290,880
= 218,160
2PS0ts 158 24 2,080,077 1,745,959 334,118
= 1,386,718




SN BAESEMY
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 693,359
308 AtXIEHMSOIE 2,080,077 1,745,959 334,118
= 1,386,718
= 693,359
01 AXEH B EES 2,080,077 1,745,959 334,118
ORESOs 188 24 2,080,077
= 1,386,718
= 693,359
ALK S0s AR 130,074 130,074 0
= 115,255
< 14,819
308 AXIHMSOIA 130,074 130,074 0
= 115,255
S 14,819
01 HASHHBSEXS 130,074 130,074 0
OZAERsOtE NHEHRE 130,074
= 115,255
= 14,819
2SEI0ts UE=E X 2,088,768 1,377,720 711,048
= 1,943,040
s 145,728
308 AHXIEMSOIH 2,088,768 1,377,720 711,048
= 1,943,040
< 145,728
01 HXHHBAEES 2,088,768 1,377,720 711,048
2SE20s HE=E A2 2,088,768
= 1,943,040
= 145,728
Ots=XAE JIs2Z 571,017 251,505 319,512
Jl 380,678
= 190,339
403 X SHMSAH=01H 571,017 251,505 319,612
Il 380,678
== 190,339
01 AXISHHA 22 £ 571,017 251,505 319,512
OOtS=AAE JIsEd 571,017
Il 380,678
== 190,339
NA0tsdE AIEXZEE 22 168,000 168,000 0
[ 50,332
= 117,668
307 212+01& 168,000 168,000 0
= 50,332




SN BAESEMY
M Ots=EXSE
&Rl Olssley ZEHE X (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 117,668
05 It e 3 168,000 168,000 0
OXNS0tsHE ANESXAE 29 168,000
= 50,332
& 117,668
K E0otsS Mg l24H| XI& 11,815,700 0 11,815,700
ax 9,089,000
T 2,726,700
308 AHXIHM SOl 11,815,700 0 11,815,700
= 9,089,000
= 2,726,700
01 X SHBAEERS 11,815,700 0 11,815,700
OXIE0otsHlE o118 X 11,815,700
s 9,089,000
T 2,726,700
XNE0ts4le 298| XA 2,892,500 12,219,714 A9,327,214
= 2,225,000
& 667,500
308 AEXIHM SO 2,892,500 12,219,714 N9,327,214
iy 2,225,000
T 667,500
01 AIXISHNBAEES 2,892,500 12,219,714 AN9,327,214
OXN < 0tsHE 298| K& 2,892,500
= 2,225,000
= 667,500
S48 X90tsdH FIOHAA 436,332 435,240 1,092
= 335,640
& 100,692
308 AXISHMSOIH 436,332 435,240 1,092
ax 335,640
& 100,692
01 IXSHHBLERS 436,332 435,240 1,092
OS4&E XNG0otsHE FIOHKIE 436,332
= 335,640
& 100,692
XS0otsHdle 2Zoiedl XA 188,500 188,500 0
= 145,000
& 43,500
403 XXM S K201 & 188,500 188,500 0
= 145,000
& 43,500
01 AIXISHHK2EE 188,500 188,500 0
OXIG0otsHIE Il K& 188,500




SN EMBSYUY
g OlIs=Asd
o9l OlSEY ZRME EX (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 145,000
=S 43,500
Ots=XIwAL TIFAXIR 2,234,998 2,177,302 57,696
= 1,719,229
== 515,769
308 AHAIEMSOIE 2,234,998 2,177,302 57,696
= 1,719,229
= 515,769
01 HAHHBSEXRS 2,234,998 2,177,302 57,696
OO0ts=X WA IHA K& 2,234,998
= 1,719,229
= 515,769
FAHE OlSSEAHIA XIS 3,741,774 3,714,899 26,875
= 3,480,720
== 261,054
308 AXIMSOIA 3,741,774 3,714,899 26,875
= 3,480,720
< 261,04
01 HAHHBAEEXS 3,741,774 3,714,899 26,875
FOUHE OISEEAHIA NR(SAEE
) 3,741,774
= 3,480,720
= 261,054
OS2 dE8RE & 1,391,236 916,158 475,078
= 1,286,000
== 105,236
308 AXIHSOIA 1,391,236 916,158 475,078
= 1,286,000
< 105,236
01 HRHHBSEEXS 1,391,236 916,158 475,078
O0ls23d8gRa 22| 1,391,236
[ 1,286,000
= 105,236
LAOLS ISR 1,427,602 1,234,561 193,041
Jl 1,264,963
=S 162,639
308 XXM SO0l 1,427,602 1,234,561 193,041
Jl 1,264,963
== 162,639
01 XN BSELES 1,427,602 1,234,561 193,041
Ogells g+ A& 1,304,448
) 1,155,840
& 148,608




SN BAESEMY
g OlIs=Asd
o9l OlSEY ZRME EX (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O ots dE2L= AR 56,3%
Jl 49,970
== 6.425
Og =2t 21 X 4,988
Il 4,420
= 568
ogHIE X 34,911
Jl 30,933
=S 3,978
Ogg=otls N 26,860
Jl 23,800
< 3,060
2AIE /A0S Selxlg K& 28,600 33,000 24,400
= 20,020
= 8,580
307 212+01& 28,600 33,000 A4,400
= 20,020
= 8,580
11 AMEISXAEEE 28,600 33,000 A4,400
LLINYAE0IS sz NE 28,600
= 20,020
== 8,580
HERAE0S doi2Es XNH 42,969 42,401 568
= 30,078
= 12,891
201 et 3| 42,969 42,401 568
= 30,078
= 12,891
2 S52g4l 42,969 42,401 568
OJtgA&0ts doi2gz XN 42,969
= 30,078
=S 12,891
d20ts2=sH K& 215,670 94,800 120,870
= 191,100
= 24,570
308 AtAIEMSOIE 215,670 94,800 120,870
= 191,100
= 24,570
01 AXEH B EES 215,670 94,800 120,870
OX20tsESHl X 35,550
= 31,500
= 4,050
OdEINEYAE dE0ISEsH N 180,120

_11_




SN BUHRSIH
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 169,600
=S 20,520
otsEs+2dl N 7,900 7,900 0
= 7,000
== 900
308 AXIHSOIA 7,900 7,900 0
= 7,000
= 900
01 HAHHBSEXRS 7,900 7,900 0
O0tss3+4l XI&E 7,900
= 7,000
= 900
OLS2EXAT MM EX 2,855,210 3,323,632 N468,422
= 2,529,933
== 325,277
308 AtXIEMSOIE 2,855,210 3,323,632 N468,422
= 2,529,933
= 325,277
01 HAHHBAEEXS 2,855,210 3,323,632 N468,422
OOISZLEXNZ AR MM ExE 2,855,210
= 2,529,933
= 325,277
s EZE85Y =48 XNE 5,590,000 5,590,000 0
= 5,590,000
308 XM SOIE 5,590,000 5,590,000 0
= 5,590,000
01 XN B2 LS 5,590,000 5,590,000 0
OoshlEs EdE7 SAaHl A& 5,590,000
= 5,590,000
d=F3I8+E 15,389,400 23,008,200 AT7,618,800
201 er23| 15,000 15,000 0
01 At2tltl 15,000 15,000 0
o= |8+4 2 15,000
308 AXIMSO0IA 16,374,400 22,993,200 A\7,618,800
01 HXHHBAEES 15,074,400 22,693,200 AT7,618,800
og=s3lz=¢ A 15,074,400
11 S| 2SO0 UeZB XA AIE 300,000 300,000 0
O=oIS+g JUALE 2 300,000
Z240ts S48 A& 8,219,940 7,192,447 1,027,493
Jl 3,000,000
=S 4,402,640
= 817,300




SN BUHRSIH
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 8,219,940 7,192,447 1,027,493
Jl 3,000,000
== 4,402,640
= 817,300
01 AXEHBEES 8,219,940 7,192,447 1,027,493
240l S48 XA 8,219,940
Jl 3,000,000
=S 4,402,640
= 817,300
MEOLE X 734,615 542,785 191,830
308 XtXIEMSO0IE 734,615 542,785 191,830
01 AXEH B2 LS 734,615 542,785 191,830
Oots dzord Xa 379,215
OsZEr gg=o= A& 4,400
OE2E=0ts NEEES K& 300,000
OESER0IE HstdatE A= N 51,000
ststd &4 442,366 440,106 2,260
308 XtXIEMSO0IE 442,366 440,106 2,260
01 AXEHB 2 LS 442,366 440,106 2,260
Oots stsetd Ad 197,830
OXEotsHE K& 224,536
OFg FAL &1 & 0l &2ld I 2
ZHE 20,000
otd & el s 405,643 417,972 A12,329
307 212+01& 232,650 232,650 0
11 AMEISXAEEES 232,650 232,650 0
Ootsitgsd X 160,650
Oots= ey XI& 72,000
308 AXIHSO0IA 172,993 185,322 A12,329
01 HAHHBAEES 172,993 185,322 12,329
O0ts A3Sa & FMES XA 172,993
Ols=EXAIE € D12 - 2l 28 X 4,317,473 5,008,606 691,133
201 et 3| 12,150 0 12,150
01 AtR2te|Hl 12,180 0 12,180
O0tSSSUEIIE AIE Ell=g 12,150
307 glztol & 757,414 705,228 52,186
03 LM EE2SHIEX 262,720 256,500 6,220
OZI&a =2¢ XN& 262,720
10 Al SXAAEEHE 22X 494,694 448,728 45,966
OSEIIEASXZLE 28 K& 494,694
308 AtAIEHMSOIE 3,308,409 4,130,378 A\821,969
01 X SHHBAEXS 3,308,409 4,130,378 821,969

_13_




SN BUHRSIH
g OlIs=Asd
el Ols3sly ZZ2RE R4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtS&=AIE 2gH| X2 3,308,409
403 MR HHMSAHE01H 239,500 173,000 66,500
01 AXISHHA 22 % 239,500 173,000 66,500
OO0IS=AAIE JISsE2AE 188,500
OXSEOotsHE W= JIXH & AIEE23
At 51,000
Ols=XIAIE SAHAL K& & A3t 721,697 721,697 0
307 glztol & 146,970 146,970 0
10 Al SXAEEHE 22X 131,670 0 131,670
OO0tS=Al 2 J2 - &l SAHL M
(=) 131,670
11 AMEISXAIEEXS 15,300 146,970 131,670
OXGOtSHE SAEL s X 15,300
308 AtXIEHMSOIE 574,727 574,727
01 AXEH B EES 574,727 574,727
OOIS=XIAIL(ME U 0|8) BAX M2
H(AZ) 574,727
Ols=EXIAIE SAHAL 214H] It X1~ 1,733,708 1,733,708 0
308 XXM SOIH 1,733,708 1,733,708
01 XN B2 LS 1,733,708 1,733,708
OOts=XAL(O8E ¥ XA0tSHH)S
AEAL QIAH] =X 1,733,708
OlsEs 38 MY Hat 141,450 165,750 N\24,300
201 ger= 3| 4,250 4,250 0
01 At 2|l 4,250 4,250 0
O0ts=X?ds & 2 =4 4,250
204 APt AH 1,200 1,200
03 S3g 23| 1,200 1,200
OSsyg23dlI(otsetitisyl) 1,200
307 elztol & 136,000 136,000
1 AMEISXAEEXS 136,000 136,000
StiUlolols 1822 AelXls & At
2 136,000
OLSSXIAIE SAEL X200 260,755 259,500 1,255
307 @I2t01 & 58,255 57,000 1,255
10 Al SXAEEE 22X 58,255 57,000 1,255
OOtSEXIAIE SAHA ZUZAH| XR(Z) 58,255
308 XXM SOIA 202,500 202,500
01 AXEH B2 LS 202,500 202,500
OOtS=XIAIE SAIXE HHZAH| KR (Al
=) 202,500
2SE=0ts A MA 2= 286,318 400,3% 114,078
= 229,054

_14_




SN BAESEMY
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 57,264
307 gl2tol & 286,318 400,3% 114,078
= 229,054
= 57,264
11 ARRIS XA E X 286,318 400, 39% A114,078
O=EsE=0ts NHEXE A 2= 286,318
= 229,054
= 57,264
HE delXSHEH 22 151,870 149,500 2,370
= 75,935
< 75,935
307 el2tol & 161,870 149,500 2,370
= 75,935
& 75,935
11 AMISXAIEEX 151,870 149,500 2,370
OHE HelXlzdt 2 151,870
= 75,935
= 75,935
KSXIE AtSHI 329,509 0 329,509
= 263,607
s 65,902
307 elztol & 329,509 0 329,509
= 263,607
< 65,902
05 212t =S 329,509 0 329,509
OXEIXIE Atb] 329,509
= 263,607
= 65,902
OSSRl izt JIseEd 7,000 0 7,000
= 4,000
= 3,000
403 X SHMSAH=01H 7,000 0 7,000
= 4,000
== 3,000
01 AXISHHA 22 £ 7,000 0 7,000
Ootssteg Al 2ixet JIs2d 7,000
= 4,000
== 3,000
A0t 2SH| X2 37,920 0 37,920
= 33,600
= 4,320
308 AHXIHMS0IA 37,920 0 37,920
= 33,600




SN EMBSYUY
g OlIs=Asd
o9l OlSEY ZRME EX (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,320
01 HASHHBSEEXS 37,920 0 37,920
Ooggldots 25l Xd 37,920
= 33,600
= 4,320
Olsstd g2 2012 243t ALY 100,000 0 100,000
= 50,000
=S 50,000
307 glztol & 100,000 0 100,000
= 50,000
< 50,000
02 2IZHBYAIHE & 100,000 0 100,000
OOtssttHdgz012 43t AlY 100,000
= 50,000
= 50,000
NELH TR =X 39,432,718 36,705,416 2,727,302
= 16,337,450
[ 3,454,071
Il 577,270
CH 3,000,000
=S 15,629,286
= 434,641
S0 U =A 39,101,959 36,403,016 2,698,943
= 16,337,450
= 3,454,071
Il 577,270
CH 3,000,000
= 15,298,527
= 434,641
HEZ0HS! SLHISXIA 48,190 59,250 211,060
= 42,700
< 5,490
308 AXIHS0IA 48,190 59,250 A11,080
= 42,700
= 5,490
01 X SHHBAEXS 48,190 59,250 211,060
ONg&el EatISAIA 48,190
= 42,700
= 5,490
MNE4 2= ARSI 39,500 39,496 4
= 19,750
== 19,750
307 elztol & 39,500 39,49% 4




SN BAESEH
M MEA UER =D
=2l MEL R =X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 19,750
=S 19,750
02 2IZHB A E £ 39,500 39,4% 4
OMEL =5 Al2lHUzel 29 39,500
= 19,750
< 19,750
NEN =5 QIAIHS Are 150,000 243,605 /93,605
201 fet= 3| 150,000 150,000 0
01 AtR2te|H] 150,000 150,000 0
Oltscet 58 sXNEY 82 120,000
o= U228 30,000
=0 A AlglEd &Y 103,650 162,126 N\58,476
201 er23 | 100,000 100,000 0
01 At2teltl 100,000 100,000 0
ootopII| £2 8¢ g8 100,000
307 el2to| & 3,650 28,126 N24,476
08 OIXt2d= 3,650 6,094 A2,444
NE 2U=cl H= 0k XI& 3,650
HYRE X (HEAIY) 2,274,073 1,280,983 993,090
308 AFAIEHMSOIE 2,274,073 1,280,983 993,090
01 AXEHBEES 2,274,073 1,280,983 993,090
OHARR Al=H| X2 2,274,073
HURE XA 61,277 61,277 0
308 XXM SOIA 61,277 61,277
01 XN BSELES 61,277 61,277
OHYR L st =l X2 61,277
HEZAE2+E ME 11,775 13,200 1,425
Jl 7,850
= 3,925
308 XM SOIE 1,775 13,200 1,425
Il 7,850
= 3,925
01 XN EES 1,775 13,200 A1,425
ORTt2Ad=+F M= X 1,775
7l 7,850
= 3,925
SHEUAL0IE A K atotatel 213,000 195,000 18,000
Jl 142,000
[ 71,000
308 AXIHS0IA 213,000 195,000 18,000
) 142,000
= 71,000




SN BURSYH
M MEA UER =D
Rl MELH T =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 213,000 195,000 18,000
OSHLGUAIOIS HAF & BH0t2tL 213,000
Jl 142,000
< 71,000
Ol==0F & A& H0IA0F 2 =2H| X2 178,500 310,500 132,000
Il 119,000
= 59,500
308 AFRIEHMSOIE 178,500 310,500 132,000
Jl 119,000
= 59,500
01 AXH B2 LS 178,500 310,500 /132,000
OO0I=0t & dd-0la0r 2=H| X 178,500
Il 119,000
s 59,500
HE 2o 13,500 30,000 /16,500
) 9,000
S 4,500
308 AtXIEHMSOIE 13,500 30,000 16,500
Il 9,000
= 4,500
01 XN EES 13,500 30,000 216,500
Odld0oF & =I1E 13,500
Jl 9,000
= 4,500
AR A0 A2 22| RIFAI (HEALY) 7,013,805 7,898,605 884,800
308 AXIMS0IA 7,013,805 7,898,605 884,800
01 XN BSELES 7,013,805 7,898,605 884,800
OAtRAIH0F AZ2te] XTEA 7,013,805
t2xe|ER0| 20REs N 551,610 436,050 115,560
308 AFAIEHMSOIE 551,610 436,050 115,560
01 HAHHBAEXS 551,610 436,080 115,560
Odtt=xe|=R0| 22F5s A 551,610
FAEME JASEN ozl X1 38,100 45,750 AT7,650
Jl 25,400
=S 12,700
308 XX HMS0IA 38,100 45,750 AT,650
Jl 25,400
== 12,700
01 XN BSELES 38,100 45,750 AT,650
OFAEAR AEL OlZH| XNH 38,100
) 25,400
S 12,700




SN BAESEH
I HEA R =X
SRl NEL TR A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
VA LMRO=2H XA 249,000 286,500 A37,500
Jl 166,000
== 83,000
308 AXIMSOIA 249,000 286,500 A37,500
) 166,000
< 83,000
01 HASHHBAEEXS 249,000 286,500 A37,500
OLAEYME 2=l K& 249,000
Il 166,000
= 83,000
SN XA 1,275,000 900,000 375,000
= 850,000
=S 425,000
308 XXM SOl 1,275,000 900,000 375,000
= 850,000
< 425,000
01 XN BSELES 1,275,000 900,000 375,000
OZSHFHAX XA (lehaelmt) 150,000
[ 100,000
= 50,000
O 2t Xl KIZ A (Z8HAHR I 1,125,000
[ 750,000
= 375,000
JINA & ZHEs X 2,634,000 1,858,650 775,350
= 1,756,000
[ 878,000
308 AXIHSOIA 2,634,000 1,858,650 775,350
= 1,756,000
= 878,000
01 HASHHBSEXS 2,634,000 1,858,650 775,350
OJIM#A & ZHEs X 2,634,000
= 1,756,000
= 878,000
S3tt=Xcld 28 ¥ 29 X 3,300,000 300,000 3,000,000
CH 3,000,000
== 300,000
308 AXIMSOIA 300,000 300,000
01 XN BSELES 300,000 300,000
OFg8d saU=xcd 28 N2 300,000
403 MR EHSAHE01H 3,000,000 0 3,000,000
CH 3,000,000
01 AR A =2 & 3,000,000 0 3,000,000
Od =4 ssdtzx|d AHd 3,000,000




SN BAESEH
I HEA R =X
Rl MELH T =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| ] 3,000,000
2AEH 2x018 XA 49,230 49,230 0
Jl 32,820
= 16,410
308 XtXIEMSO0IH 49,230 49,230 0
7l 32,820
=S 16,410
01 XN BSELES 49,230 49,230 0
O2Xed Exoid x| 49,230
Jl 32,820
< 16,410
CHEH =3 Atg 2,241,759 1,143,454 1,008,305
[ 1,694,430
= 547,329
308 XM SOIE 2,220,759 1,143,454 1,077,305
[ 1,694,430
= 526,329
01 RSN EES 2,220,759 1,143,454 1,077,306
OtgnEsdE bl K& 2,202,759
s 1,694,430
s 508,329
O=sdy 98 249 A& 18,000
403 AXIEHMSA=Z01d 21,000 21,000
01 MHXIHHA 222 21,000 21,000
OotgNssdH Jls2d s K& 21,000
CHEENESsSdE 23] X 361,000 77,610 273,390
= 270,000
=S 81,000
308 XXM SOIA 361,000 77,610 273,390
= 270,000
== 81,000
01 HRESHH B EES 351,000 77,610 273,390
Oltighss4dH 2SHIXNEH 351,000
= 270,000
& 81,000
CHiENEsSdE £Xdl X 574,000 210,000 364,000
[ 505,000
= 69,000
403 TtXI M SAH=01H 574,000 210,000 364,000
= 505,000
=S 69,000
01 A2 2L 574,000 210,000 364,000
otgneEsde &xibl X 210,000




SN BAESEH
I HEA R =X
Rl MELH T =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 180,000
=S 30,000
Ootanss4dE ZXIHIX&(Sest) 364,000
= 325,000
< 39,000
SHE =2SL=SME 28 1,002,968 1,250,720 N247, 752
== 702,968
= 300,000
308 AFXIEHMSOIE 1,002,968 1,145,720 A142,752
< 702,968
= 300,000
01 XN B2 LS 1,002,968 1,145,720 N142,752
Osgd 2sL=sHH 24 166,968
Osgd 282 teguz=ss A2 800,000
= 500,000
= 300,000
O8dE zS=8ud HE =Y 36,000
StnEsH Al X 185,282 81,570 103,712
= 92,641
= 92,641
308 XXM SOl 185,282 81,570 103,712
= 92,641
= 92,641
01 XN BSELES 185,282 81,570 103,712
OstussH 28] X2 185,282
[ 92,641
= 92,641
stusst JIEtEE8 XA 84,000 36,000 48,000
[ 42,000
= 42,000
308 XtXIEMSO0IE 84,000 36,000 48,000
s 42,000
= 42,000
01 XN B2 LS 84,000 36,000 48,000
OstEEH JIEt23Hl X 84,000
= 42,000
= 42,000
Ciet=sSdE SALL ML 48,240 42,840 5,400
308 AtXIEMSOIE 48,240 42,840 5,400
01 HAHHBSEXRS 48,240 42,840 5,400
OUsN=sHE SAHA EAga4H) XI& 18,000
OUENESHE SAHA MMl K& 30,240
Rotd olEd K& 16,297,700 19,034,600 A2,736,900
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SH: SMNEREHY
I HEBM O 23
SRl NEL TR A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 14,519,000
=S 1,778,700
308 XXM SO0l 16,297,700 19,034,600 A2,736,900
= 14,519,000
== 1,778,700
01 XN BSELES 16,297,700 19,034,600 A2,736,900
oxgrg olgd X 16,297,700
= 14,519,000
& 1,778,700
4O =1 A2 AIBAE 112,800 0 112,800
Jl 75,200
= 37,600
308 XXM SOIA 112,800 0 112,800
Jl 75,200
=S 37,600
01 XN B2 LS 112,800 0 112,800
QAo =) AZ2c| AIHAI 112,800
Jl 75,200
[ 37,600
ChAA Ot X1 330,759 302,400 28,359
CHAH 288 HgES X 201,000 114,000 87,000
308 AXIHMSOIA 201,000 114,000 87,000
01 HAHHBSExRS 201,000 114,000 87,000
OCHH4 &g HgEsS X 201,000
CHAtA & at= A2d2ie] XIS 129,759 188,400 A58,641
308 XtXIEMSO0IE 129,759 188,400 A58,641
01 AXENBEES 129,759 188,400 /58,641
OCHHA & &t= Azd2e| X3 129,759
NEMEASA AT 37,440 37,440 0
MNELAZASK A 37,440 37,440 0
NE4=EXEA AIME=X 37,440 37,440 0
203 =4l 37,440 37,440 0
03 A=A 2= 37,440 37,440 0
OsXed M= 22,770
OSX2d stHIFA 11,250
O=AEAH gexd 3,420
WRes(EMETM) 62,100 28,520 33,580
SEIS (42T 62,100 28,520 33,580
NLH(ES =812 XUHL3) Ol KHakE 62,100 28,520 33,580
311 XS0l Rr&ate 62,100 28,520 33,580
02 Sa=8I|1 2SO0l Atafe 62,100 28,520 33,580
OUETIHA=0IE 62,100




od
i’
oF
uJ

-

KIO

Hlw

10,047
10,047
10,047
5,100
5,100
4,947
4,947

MEE
Ofl &k2h

80,660
80,660
80,660
34,000
34,000
32,980
32,980

13,680

Ofl &F2H

90,707
90,707
90,707
39,100
39,100
39,100
37,927
37,927
37,927

13,680
9,900
9,900
3,780
3,780

- HyS

- SRA(E) - HIRAY

S - B

O&Ed2sdM Ol

01 AFS2t2ltl
01 3LHNE

202 044l

Kl
KF
oF
oD

9,900
3,780
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